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] 1. Resuelve las siguientes operaciones.

O —45 + (-23) =
b) 29 + (-13) =

°) _5g7 + U8 =

d) -39 + 65 =

®) _689 + (-U8) =
f 30 +(-193) =

9 720 + 323 =

' 2. Resuelve las siguientes sustracciones.

o) 546 - 723 =

b) 145 - (-76) =
o) 428 - (-238) =
d) -321 - (-53) =

&) 85 - 61} =
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n 57 - (-8) =
g -139 - 79 =
h 78 - (-428) =

] 3. Calcula las operaciones combinadas.

a) 12 + (-18) + 5 =

by 1+ (-3)+6+ (-1 =

o) (-24) + 12 + 11 =

)8 +5+(-3)+(-U) =

e) 13 + (-18) + 22 + (-11) =

N6-U+(-1)-0+2+(-H)+9-(-1)-=
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------------- ( Resultados:

a) -68 \
b) 16

c) -539

d) 26

e) -737

f) -159
g) 1043
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a) -1
b) 3
c) -1
d) 6
e) 6
f) 8




